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IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—|, Part—I| and Part—IIl. Part—| contains questions of
Language (Qualifying), Part—Il contains questions of General Studies and Part —I11 contains questions of
Chemistry.

Part—I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
L anguage consists of Question Nos. U-9 to U-30 and Bengali L anguage consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-11
consists of Question Nos. 31 to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

Immediately after commencement of theexamination, you should check up your Question Booklet and attached
answer sheet and ensur ethat the Question Booklet Seriesisprinted on thetop right-hand corner of the Bookl et
and the seriesencoded in answer sheet are same. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there arefivecircles- &), ®B), (©, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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Whatsapp Link :-

https://chat.whatsapp.com/HoJF279pzqpHrSGqwiiK4u

Youtube Link :- https://youtube.com/@therasayanam?si=H-OokI0OIQOBX-yB]J
PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms ifthat makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeingbland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5.  Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":

E-6. Ifyoureach Airport on time, you will

catch the flight.
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(€) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above



BPSC TRE - 4.0 Revision Batch Link :-

https://wnoqi.courses.store/618023?utm_source%3Dother%26utm_medium%3Dtutor-course-referral%26utm_campaign%3Dcourse-overview-webapp

(Hindi Language)

frafafea smfea o & onem )y €. H-9 H-12. @ 3R 3 smoE d F=a o ?
A H-14 9% & Y9 & S @ we |

T 3R 9T Tk § Tt o B 9 | WA W o1 3R (A) 2=

T &Y | T T greRt ot uen § A o | |t foreren

IHH IAER B WO T & | 36k feradi a1 sga Aewe B)  fachtawa

o1 | e & Feet Weld—ghed 3R aganft # aifew m

ST o1 | T iR ot faeht drea & | safeTe WA s (C) w§

T BT BT T o FoT0 TeTrg 2ar o | s Prerent .

AT T8 /AT o1 | Ueh &R Ta & TR 21t 37T | Rl (D) Sudw 8 TH A sifeh
ofT | T A TRt 31T hi U1 =TT | 3 &t § TUeh AT : ‘

& e =g fiwmn | (E) Sude® € i T

H-9. 7 Sreeht 3173 i ot ekl aTel ?
(A) A9 IS B WR AT o
(B) Yo 3iR 37514 Uk & Thet 4 Uad oA
(C) USRI TR bt 31 A Tl o (A) Tt Freia 5 w0
(D) S A TH A siferh
(E) Sudam & g el

H-13. | foreres @ @ RN T@a @d 9 ?

(B) Yo & ufiendt 214 sRot

(C) ¥ % HAER & HROT

H-10. T 31T i 81 B 573 & 070 9 Fetg 2t :
o ? (D) 3Iuge | © U W AR

(A) Toeh Sred g o RO

(E) Sudea A &
(B) ek TRt W o hmon
(C) oTE M % HRT
(D) Suge @ A UF A aferh H-14. s g s 3t 7 o o ?
(E) 3uge i e T8
(A) AT
H-11. TWASHATDE AT ? (B) ue#
(A) =
B) wEriim (©) ==
(C) wwzrER (D) Sude d AU A ek
(D) Sudwd o @ TH | afen
. . E) sSuwgwua i
(E) suge i@ & ®) e
EEE
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fr=feRaa orafsa werwr & omaR W W €. H-15

A H-20 9 & Uwt & W A SRt |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE 9 @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR it & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH

At 3k Sitam | e o =nfzu |
H-15. s &R gn & @ iR g ?

(A)
(B)
©
(D)
(E)

Teh 31e8 TSI

g forameh

FITA HHIE

S A T o
U A I T

H-16. TraTst 3 ST & A € e SR ?

(A)
(B)
©
(D)
(E)

g @

T g

e
e 8 @ T & ot
SR o 6 1S

H-17. REcidRa ?

(A)
(B)
©)
(D)
(E)

WA T ISR gl
WA o WgH &R § | Th
HIA T HeT §AIE
Sugerd § @ U W SRR
TG § A R T
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H-18. i Prarsh st siret i shid & ?
(A) 3R e S HwRT
(B) wRREgEIHHR®
(C) 3% 3T<S TUIl o HROT
(D) Sudwd AT A Al
(B) Sudwd & =g 7

H-19. T3 TeHifas 91eg ot 312 ¢ -
(A) = ifa Ko o o5 werer g g
(B) =g ifa o a5 d=rer g g
(C) owifa | wwaf-oe i
(D) ST & A U A wHferch
(B) Suded & =g 7

H-20. =70 srafda et < e 2 -
(A) P& e e
(B) WSttt StieH
(C) et =t wsem
(D) SudwdHdTH W Afth
(E) Sudwd & =g T

H-21. =7 safehareeh @ ¢ -
(A) @
(B) wm
(C) =g
(D) Sudea ® A UF W ik
()  Sweler 5 & whig e

H-22. 37 3A0Ysy qeAm § -
A) #
B) 1
C) ==
(D) 3o & A0 A arfeen
(E) Suder® & g &



H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TIHEIAE ?

(A) IUEFHRE

(B) wr=ruewReE

(C) atfermun Rk

(D) Sudea H ¥ U W R

(E)  Sweiert # & g &

H-28.

H-24. 399 acan vise @ -

(A) @=n

B)

(C) =i

(D) Su¥eH A UH W i

(E)  Sodert & & <brg et

H-29.

H-25. s qg e @ -

(A) Fromeh

(B) swiureR

(C€) we=

(D) Sudw H @ U | Al

(B)  Sordert & 9 g e
H-26. 3 ‘Scpu’ v1eg o1 [aulianeieh v1sg & — —

(A) e

(B) Em

(C€) "=

(D) Sudw# A U | Afew

(E)  Sodert & & <hig e
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(A)
(B)
©
(D)
(E)

fereft oft amrert 1 St 1

TA W YA A

I THieIT 3Tk WIS Tehe il ¢
U § | U A iR
IugeR W i T

AW ‘WA’ YIec h1 UITHET IIee @ -

(A)
(B)
©
(D)
(E)

Sl

g
art

Suefer H A TR A
Iuge | A S T

‘Sl e 1 fera gt arerEEvE % o uew
&3 2 -

(A)
(B)
©
(D)
(E)

o
T

e

e 3 A T A i
IR | A I T

“WeTg ® g gerer i aief @ -

(A)
B)
©
(D)
()

A H S

< o

foret s
Suder § @ U W e
Suge o 9 g T
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(Urdu Language)

F 1 5 &7 > )
2 e Ut b e PSS S E

(A) Sri e et B0 6l
(B) bt b Lt A d7
© ;,g.ﬂ?lfu}g'gu/u«_ %?J;wéwlém,m_g
() cuSl FUE Pt i e o
® S mfL Lol o

u‘f@!’/yuj}dx"’uﬁé_uﬁuf@: -u:ftjufl?fw;

IS UG Ee 2T U1

fe lg’U 18

£ w

o7 (B)

e (C)

AL Jlhe? (D)

e vt (B
K W B e Ui 0 U-13

e

JEr @)

£ @)

Ze ()

e dle e (D)

S s (B
Wit LS T U-14

=K (A

— (B

£ ©

HieLle Jilye? (D)

S ihe” (B
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Y,y s

AT AT ST
SEEUI A SIe L Ug-e U
e M T e AU e
Lok g e e Ui 37
! rﬂ,,;,,ﬁ,cgf,_’,/Lu,jiu‘f@u’,,,'w-‘a;m

& &g A SR 2T U9

Zz (A)
= ®
#56  (C)
Aie L JUe” (D)

S v (B
GIEELAS U ESS U-10
K2 (A
ke 2 (B)
K G (O
e Ll Uil (D)
S St (B
E4E
o

(=]



S Guitgg e DT U-17

cuphEe Uitk (A)
=dSl  (B)

e lndle  (O)

Sie K Jille? (D)
S S ®

bl s e A
Lo (A

Lok (B)

Zit (©

S Ll il (D)
S S ®

Poud O Sus s sl
?ug[}{m

U5 (A)

Uitk (B)

SEZNN(S
= u“(’c; e (D)
H e S (B)

frd VU%’/UUD)!C@./‘
Ji (A
JAk (B)

()
e K Jother? (D)
S vt (B

fe L«u/( I
ci (A
e (B)
JET(0)

Sie K Jille” (D)
S st (B
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.U-18

.U-19

U-20

U-21

,ugd/,/ej.éu@my‘dmu@t&g:m

e Qi U Us gote Sty il i
S U b g 2 S

i L S Wl Fizln i

L /m’u:mwﬁf_@wu%uué";uiu;/e/
_uj‘@;)/
U BL N e e A
&géu,/muy,ut:u:!sg?ung»JTc)
OUlea LA b P
SASU sl UIOIL At it

9 T8l Qe Pt Ui U
ATt

e $n UL L5 U-15

A Kl Je il
ATy

(A)
(B)
©
(D)
(E)

R V0L) 40— /;igfgﬂé

e drrig

JﬁG’L

diwl?.g

c;u‘"}é_

ekl = P’
He e

[=] 4 [=]
'J':'E-'EJ A
ek

(A)
(B)
©
(D)
(E)

.U-16
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e LB bl g 2 Ut 027

Ul (A)
& B
T (0

M K Sl (D)
S St (B

S BILUHLEPE n"
=l (A)

<Lt (B

—~ (©

AL Jelie” (D)
S i (B

S e nlbl A W 5C
g A
(B

¥ N
S Ll Sl (D)
S e (B

S P
SN

W B

ur (0

S Ll Sl (D)
S s (B
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.U-28

.U-29

.U-30

ez by g el T U2

?‘L g

=5 (A)

A B

S ©
Sie L J2ie” (D)
HYe S (®)
S Jeisind s L
. v

VRN

=4 (B)

S ©
e L Sl (D)
S St (B
fe Lot s
AW

§4 (B

o (O
Sie L S (D)
St (®
?“édu' l;'Jd/E e U:J,5Z'//J
e EEUAT ()
b UELLL  (B)
<A SEAAE (©
Mie L J2Ue” (D)
S s (B
PSR S
U @)

Usf (B)

A2 ()
e L S (D)
S e (B

=

.U-23

.U-24

U-25

.U-26



(Bengali Language)

e (B-9 (3t B-14)

FERIAR ol 72 FRew Ao, T8 @1 @l
2300 I #Ale, Sz oves fee a1 | fofd e gl
oo, @ wife gzl 23xifece, 2 #[iE «@3g
TR a8, SRl 72y 283 41 | (19 FC Jian 7120,
SR (14 e ToifFe 236 | @3Te T [ere 230e
AW S (3, 2 (Fif1ea Sibet oiRR oIt faerife
A[ZANE; T Wi 741G ojs2e 2303w, Saf¥ienres
B (e #AiZ0a @R Fofq SmisTeg 26! 213 |
FTAIIL I SR ATHF FBCHHT Ghled (=, fofe
R 2 IR S AN A FOICH T Fe 230 |
AW S, T wiRget e Afere e |

TS TR <l PR P ARG AT,
“@ 2l [NRICe, OiRITe (st Wee 6 2303 2 SivHE
«Q IS SIS SN I 230 1 | S ST
2IAMZ | O SN €2 F2 (T, JRAN O SR
aerorial FRCT 11O A (F T 2 (7 T, ORI @
e (& T IR (G AN oo | el
S @B SE P S G ol a-wfzea
w7 IR P BRI |7

F Y Be o @ I8 Tl aEaR
foror a5 fore™ | ARIAR o preNew 230, fof
TR et Aemifetem @, T faw T s
faorife #i7, Sww: ww e ColNEl SRl SiE 92
SR T, S AP MOF T (OfEcE AR |
FAAT ol OIRTe FPe! 22AMCE | AR
i Y ez g N 72y SEcS Gifece | “wimsE
Q8 g FATS 2SI 230 BIfRA 124 I G2l
T 1 Afer FixIAR Sl (7 A2RY &2 SRl
IR | FHHAFACS 7ol 226 SR 22w 8 (17
i &7 |

F A e JRTS AT Fi2 ([, St
et el 2B | vl (e SR ST
e 2305 | SR AR o], TEHCF SR IR
foml pifererzd, (T e Feq 230, A0,
‘e it e, S & R 2 st a1 e,
oI ©lRlE FRE 17
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AN el e, Ny sy, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffarelz, N FGANE Ao FU A4S Tg I |
IS PERANCARICT @ F2A F2A; SAioife ey T 17

TR AT T SR | SRE G M % oimed
@I} SgwE 2T ordt e | =T i s [
JfaiceT, 2 i A= 91 | I g SR /e
RN S IR (F, G0 S 02 5o | 7T
AP T 2305 SIIPCA | ARER NrolF (@ o2,
(1 MR- e MRWZN ORI Y2 20 btz
2 | @=FCel SF T 12, oI W (1 SEFHNE W2 |
el fSfe AB0w T 230eT | PN Y, A @
IR AT F7ACY et w231 Colets |

fofq Afowe Afver Hfeen FaEeT | Fe
TSI G T 239 A, S Ok o) 234 |

TS A FEG AF AR O
Tifere wde (reniEte | fFe Sk aifet afermt
RIS e Abite 3l Aifete feem =, =i rz2
AR | FCTTT AN, AT 716 @5 =
ST SAIGe SN Sef T A2, 58 P
I Rl sfcem, Sy aaide o Torg 373,
SR FGIREN Tova S = | PR e
JCEAST AR T 2306 | IR TR TGN
T7{feq CQRE FRCS A0 |

Fifs AR @z | e S g TareE
(IS AETRANE ©I2F @3 foe | fofd fKitapa s @,
AN @z erereife @t fres, wifs o W 363,
G (FZ O 2 | S« (I A, TR [rama
faat Kz 2o 2309, ©@ oRiF @ | @ee @7
Tl 13 | 92 eI I 1] FiFiaR [aites
(I STiel 71 RN, ORI Sesnte! RS TR |

[=]4 =]
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B-10.

B-11.

FAITT STret (o gefAT 23R 2

(A)
®)
©)
(D)
B

O SRy I e
SRl (RE [ 71 2e
THARTE SR W0 GG (AT S

FIFIL A (& AN N0 FOIF ToiZ
230E 2

(A)
B)
©
D)
E)

AR Rtces 2w e

IR SIS

fofsedtz oo

THARCSfER T I (AT &S

TAER @A 77

AT Ao ARG G g & (o
EGOE

(A)
(B)
©
D)
E

w1 A2y

A g el

ol =zl

THCS R WK G (AT A&
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B-12. =712 I (F AR [{c2g Sowial 1
fal OIRICs e IR ?

(A)
B)
©)
(D)
()

B-13.

I el fee
o i@ = Al
THARCESfeT WL G (AP K

LRI o] e IR T 902 SR

FACO HR© 23057 2

(A)
(B)
©)
(D)
()

SRR EIEE)

BIRIRIGIEAS DI

fofFeA Tey

THRCS R 0K G (AT A&

B-14. J[E7I I @ AGRA TG g
falts SCe Afacets 2

(A)
(B)
(©

(D)
()

DI R LA
IR SR

TR FGII T FRC = R
RIER)

THifaCeafled M0y O (ATF IS



2Rt (B-15 (4t B-20)

fe Ffeer—aeg s IFCelR, SN (o WA @
S FEAZ |

S FfeAT— W, S-S B I (ORI
ST 30 A1 2

e et —7 B9 7ol wiw @ g sive
AR O GO AR (M{ATe Al |

A o g WRF AeT S-S
J I —woel, AFfod BI @R (ONIE B
COI-G] 2T W2 | 22 (Y 2 T DA (R
CSINITRE SICaa 24l o[eilf |

i} sifews ora Ffee—widie T2 Tred
THART FCF SRR AN ©F |

T FRET—qS AT T IR, IED
GFH] A (PR TS T | SR GO IO
Aelfe waim TS godid Y OF TRk 3w
AE G678 2D Tomraa A ¢l I @
@G 27w FRAR, G7 (Sl TR Al FAAZ |
oify sz Aiee wbees s ol alkafy, af@
TG SRS T OCH A1 FA-SINE T SIR0!
ORITS AR 2207 |

Ffe FarEite FRE—meal ©iF AN, @(TRF
GRR A (T TAE (1Z003 RIS T =59 2ozl
e QM2 =1l | (@ AT e oaalfd e core |
foe wxRifa wfn wifavgss S St (13-2eE Forei
SIS BT 2€ T O (6! (O (¥ Freife
R TSI AT T 1 | (FTF =R IO TI518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TR 5 237 G N |

(I G0! 772 e (6B SR, FRFA—aF
(O 5 WCLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RTwoF |
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11

ife sfze—aibrR o 13l Ior wr ada fF;
BfouTey AR SHRTRT @R DG =re F TS
237 | o @ Sorw (Frewere e | 2bie
TIPS FfeeT—CT! HIcFR AeRMR; SN 96! 915
M AGTETR—

(o PEe — (ORI AN ETRIGI Bie =7 wfice

it M (rfcef® | 799, O AATT!, TR0 AR AT
A

(TefFAR SMeR Rtz (2 S el Ffe
T G-, TR FFe eTtea Teim 23te oEifRE
reift 2Nfea sifaer «a frere W fawsticra wcet
TS 23| PRI A |

A 2IfTe Ffole—SacE W 231 2T AW T
AR TS T, GG Ol ferd SNl GIoItE
@RTS 217 9| T SN S TP I,
SIZIF FOIF A2 (T, SR A3 [Fgres @1 75l
faifer ffra 2fss siica =1t | 51l fAGHRG 07, ol
O, Soioml fte I, 716 IS8 TWCH F6 | (7

Il IS F e, SRITF SITERIANS GG |
B-15. 7w sre, aFfen v @ Fi 2=
(A) SRR
(B) wifoags
(C) w[cEs
(D) THARTSSER N GG (AT SET
(B) Ttz ieaifos o

B-16. 3 S0, 2507 B9 @R S0 BIIF AT

I eten =R ?

(A) @ AT (72

(B)  feiieT 2iten

(C) ANy 2w

(D) ToRCeSR ey G (AT F
(EB) Totaa @ieaifde o

i [P.T.O.



B-17. e (3 237 LI SRR (1T A 11 2

B-18.

B-19.

B-20.

(A)
(B)
©
(D)
(E)

6 IO @11F G AT AR Il

RERICRCERRA]

OlF eI FIC

OIS B FICA

TS E T N0 G (AT LT

PLACRA ?

(A)
(B)
©
(D)
(E)

Href @3 77}

ERISICERCEC I

SISl @R 7l

TARCS SR N2 G (ACF ST
TATIA (FICAM2 7

(DGR ARRICH 37 7 e

(A)
(B)
(©
(D)
(E)

BRISERET
AJCHS =T

TH GR GACHA IFA

TARCS SR A GG (AT ST

AN TS, N Fod F 2

(A)
(B)
(©
(D)
(E)

TR

GRS G2 TR

AN IR SHATIES

TARTE SR N0 GG (AT W&
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B-21.

B-22.

B-23.

B-24.

“.... 31 prel &7 fresiE (rRrEite e e 17
B FHAIET AAfFere FaCeT 27—

(A) ORIl FEheT (RBI ST €A Wema
KIS

(B) T Qe €TvA faTeond @iz e =i
=

(C) RRIE T wiel &l etz e =i
(D) CrfCeylm M U (AT SEH
(B) Totam @eaifbe «

“. ARCENE @ TIIFAL...” (@ifEe omfba
ST feyef <o |

(A) TIOFICA (@ LI, TGTEAA T |

(B) I (SeeR) fafire @ <l (99);
fafire weozF

(C) TAoC Al THF ORI

(D) THCE e M G (AP TP

(B) ol (SR T

‘....CaNzEefe AR A e ACF 1 QAT T
iG] o105 2o 20ACR 2

A) oferes

(B) Ffewc=t

(C) = 3 & GeAleTest

(D) THACSSlem A0 G (AP TP
(E) ©oItad (IeAe 2

TIEFAAL =5 (I SIS 2
(A) fef%
B) =M

(C) o () @ A (F=f) widie
TP *H

(D) CofaCeafer Ata G (AP SKH
(B) Toitzm @Iaife a



B-25. GRGIE AGR (OB A HICT A | (@LifEe B-28. “GR1-siAl I 401" —GR-SiR *=io resife

mod FET ¢ Keofe 21— fojefar aeeT |
(A) i T Refe (A) GRawAl el (e TwE) [weAe
ECiER]

B) T T Refe B) S e wm @)

(C) w7 frefe (C) GRTT= Ol (379 ©efse)
(D) TS afer Atxy Gre (AP HEH (D) TS aem Ax G (AP SEH
(E) eitaa @IcaibE (B) Tt (Pt o

B-29. “foaf¥a 33 99, 2 &, G_T-07 27

B-26. o (@G (PiFam A 1L 73 2
— G- (I P2

(A) Teom
(A) TS “9@” Fefe
(B) =im=
B) wfiwze s “9” [Kofe
©) o (C) TR “9@” [ef&
(D) TeAffeeefem Ty qr (A vifes (D) TS eefm T G (2 SR
(E) Toit (ieaiz w7 (E) Toitaa e 9w

. B-30. “¥ . O NPT |
B-27. Si@sW < @97 G &K ARTOEE (@i 1M 5T

o 1 AW 2 — NI Fl A
(A) TS (A) fem
B) wffRRRe B) v
(C) el 1l Reed (©) R

(D) ToRCSSR ey G (AT H
(B) Totaa @ieaifoe o

(D) ToRCeSR Ty G (AT F

(B) Totaa @iaifbe o

[=]%5[=]
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31.

32.

33.

34.

35.

PART - 11

(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 17

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?

(A) 1%gain

B) 1%]loss

(C) nogainno loss

(D) More than one of the above
(E) None ofthe above

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above
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36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (=3)™*! x (=3)°=(-3)’, then the value of m
is:

A) 5
® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=-constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R', thentheratioR/R'is

(A) 1725

B) /5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above



31.

32.

33.

34.

3s.

PART - 11

(GENERAL STUDIES)

fFrafaRea @ @ S A (x+1/x)2 wAARE ?
(A) x>+ 1/x°

B) x*—1/?

©C) x¥*+1/x* +1

(D) 3o & A0 A arfeen

(B) S awe i

Teh i@ didt & 10% 2iferes W 2 | afe 10%
Qe hl IgAfa g Al Frefefea d a A adi @ 2
INERCA

B) 1%z

(C) Acmuag

(D) 3w 5 A TH A aAfeen

(B) Suger ® & hig el

qut &7 T A o fore 8 1 =hl fora wiean & T
foran s iR 2

A) 3

B) 6

<o 7

(D) Sude A TE A 3l

(B) Suder ® & hig &

31 Ut 3t & =it o SR 66 | 31 sema
T AT 2:5 8 | S A g

(A) 6036

(B) 100 siR 33

(C) 110 3iw 44

(D) Suger d € T | 3ifereh

(E) Suder® & whig &

Tk TR Tgs ABCD #, %ot A 3iR shiut B
31U 1:2 2 | hiut A 71 <hifeTe |

(A) 30°

B) 45°

(C) 60°

(D) 3uger # & T @ arfern

(E)  vofer & & g i
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36.

37.

38.

39.

40.

T S S ekt Breen 7 @t @ st e
g gheT 968 AT R

(A) 153

(B) 17

(C) 193w

(D) 3o & A0 A arfeen

(B) 3uder® A g &

A (-3)" x (-3)° = (3), A m A ARE?
(A) 5

B) 7

© 1

(D) 3ude ® 9 TH & Al

(B) 3oder o & g Tl

At x 3R y FHATI &, -
(A) y/x=Teeris

B) xy="Termm

(C) x/y=Fer=

(D) ST A TH A ek
(E) 3uded @ T&

uferier R ok foheli R o6 Zehe Uil sRisR S o e
ST 2 | 3 gohat ot foR uTeel sh & Tanfora s 3
2 | afe waeA S qea gfeig R' 2t R/R' g™
A FIERT ?

(A)  1/25

B) 1/5

(C) 25

(D) 3w H A U | arferen

(B)  Sweler & & g e

8 Q uferer =1 g ferega i frga A w2 w2
ah 1 5A Toregaem s 2 | et # seam ss R R
Fn Rt 7

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) ude & U A Afew
(B) Sudwd @ =i T

S8

[P.T.O.



41.

42.

43.

44.

45.

Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) Aconvex lens of 50 cm

(B) A concave lens of 50 cm
(C) Aconcavelensof5cm

(D) More than one of the above
(E) None ofthe above

The human eye forms the image of an object
atits

(A) Cornea

B) Iris

(C) Retina

(D) More than one of the above
(E) None ofthe above

Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vasdeferens

(D) More than one of the above
(E) None ofthe above

The anther contains

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above
(E) None ofthe above

Asexual reproduction takes place through
budding in

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above
(E) None ofthe above
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46.

47.

48.

49.

50.

Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above
(E) None ofthe above

The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above
(E) None ofthe above

In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above
(E)  None ofthe above

What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above
(E) None ofthe above

Which country is not a member of G 7 ?
(A) Russia

(B) Canada

(C) USA

(D) More than one of the above
(E) None ofthe above



41.

42.

43.

44.

45.

Tereht vregenia ® for@ B2 31arl <l ugd |H g
= 7 A A e TEe w7

(A) 50 cm wiHE gl 1 ITA

(B) 50 cm wieHH gh w1 AR T

(C) 5 cm wishA gl 1 FTEAA

(D) 3o & A 0 A arfeen

(E) Sudwd & =g 7

Freferiaa @ @ form v w foret g = wfdferat
TG ?

(A) =t

(B) uftafem

(€) gt

(D) ude @8 U A aAfew

(E) sodwmd | el

frafoRaa i@ SR AR S da R AT AE R ?
(A) 3EwE

(B) YA

(C)  vpretiget

(D) Suderd | W U W AT

(B) Suder ® & i

(E) 3w a e

STATITR T Ghet- gRT gl 8
(A) orfen#

(B) dred

(C) wremfzamd

(D) 3o & A 0 A arfeen
(B) Suger # 8 hrg T
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46.

47.

48.

49.

50.

AU o TSR A o foTu fnm o | ferm aitafarem
ST AT R ?

(A) ufifes

(B) ufdsra

(C) diserd

(D) 3o & A0 A arfern

(E) Suderd & g &

CAA & 1=t AnTiehan fskan o fote smaga e
Freuren fora o gt feman SR 2

(A) = fawmgm

(B) TuRn fasm gr

(C)  <hwsia geen oM 4. gr

(D) Sudw AUk A Al

(B)  Suger # & hig &

e o 9 form 3o @ wra A 3w UPT =rre ferem
2?

(A) emsers

(B) =R

(C) i

(D) Sudea ® A UF @ ek

(E)  Suger® & hrg @

T g 2024 ¥ siafker At At 99 ae
AN 1 AW 3

(A) ITRTER

(B) wWHI™

(C) smEm

(D) Suded ® A UF A iUk

(B) Sudwada e

FMWMG T W EATETE R ?
(A) T

(B) @

(C) 3uwax

(D) Sudw AU A Aferes
(E) suger & whis T8

[=]4 =]
i [P.T.O.



51.

52.

53.

54.

55S.

56.

The process involved in achieving Green
hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above

(E) None ofthe above

Which technology can be used to revise

deceased individuals ?
(A) Deepfake
B) Al

(C) Chatbot
(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above

(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) BirsaMunda

(B) Rajendra Prasad

(C) SatyaNarayan Sinha

(D) More than one of the above

(E) None ofthe above

Which is the moon-like planet ?

(A) Mercury
(B) Mars
(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) Riftvalleyof Aftica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None ofthe above
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57.

58.

59.

60.

61.

62.

In India dry point settlement is found in
(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop

production is maximum ?
(A) Bhojpur
(B) Rohtas

(C) Nalanda
(D) More than one of the above
(E) None ofthe above

On which mountain is Tehran situated ?

(A) Alburz
(B) Zagros
(C) Makran

(D) More than one of the above
(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

(A) AnaiMudi

(B) Kanchenjunga

(C) Mahendragiri

(D) More than one of the above

(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A)  Agricultural expansion

(B) Large scale development projects

(C) Grazzing and fuel wood collection

(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?

(A) Madhubani

(B) Bhagalpur

(C) Aurangabad

(D) More than one of the above

(E) None ofthe above



51.

52.

53.

54.

5S.

56.

R gEIgIeH I &1 i | AR ¢ ?
(A)  sorERTEtE

(B) <SrEgRHRE

(C) Fcieteo

(D) Suder ® W Uk W ATk

(E) Suder® & g &

S Ft Teheiieh T o YriTerd fo@n Tl 8 ?
A) Surs

(B) u am

©) edr

(D) Suded H HTH | 3fen

(B) Suger ® & hig &

2024  Siiferd Gk HTehet | hiF |1 291 TR
QAT ?

(A) FrEsiiEn

(B) Uik

(C) seaw

(D) SudeH | UH © AR

(B) Suger ® & hig &

forami & fRa | mefshi A 1917 & wvura geamg
foraer agam A fRan o 2

(A) e goen

(B) TE R

(C) wmmEm famg

(D) Sude® AR A Aferes

(E) Suder® & s &

TEHI AGYE U - E ?
(A) T

(B) W

(C) g

(D) Sudea W UF | AR
(E) Suder @& g &

SHETYH o HTR T A Icdi g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suder®i A g &
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57.

58.

59.

60.

61.

62.

HRA | y7seh foreg arecht forert @
(A) =ga=id

(B) frermrd

(C) swraetyew

(D) Suger d | T | 3iferh
(E) Suder® | g &

forgr = form et ® e =t ScuTea Fanfares gl 2 2
(A) ST

(B) dgam

(C) =

(D) SugeHH | T | siferh

(E) Sugerd & whis T

et fohm vda w a2 2
(A) e

(B) sww

(C) v

(D) Sudea H A UF A ik
(B) udwd & = 7

WA < i o1e hl ga@ S = e :
(A) FEGE
(B) T
(C) Wz
(D) 3w & A U A aAfeen
(E) Suder® A i &
TR | I -H1 HYA I IR STal <l hH 6
YU HROTTA R ?
(A) Wﬁﬁa‘vﬂﬂ
(B) 9 dWH WAL o foreh
(C) =TS 3R TA <l TIehg! o TehefiehTuT
(D) 3w & A U A arferen
(E) 3uderd | g &
forgr o form et ® Yomdt o =kt IcuTea weTieeR
Trag ?
(A) g
(B) wmeTqR
(C) sirmamg
(D) 3o & A0 A arfeen
(E) Suderdi & g &
[=]45[=]
= [P.T.O.



63. Who was the viceroy of India during the 67.

Jallianwala Bagh massacre ?

(A) Lord Curzon
(B) Lord Chelmsford
(C) LordIrwin
(D) More than one of the above
(E) None ofthe above
68.
64. The first President of the Indian National
Congress was:
(A) Dadabhai Naoroji
(B) W.C. Bonnerjee
(C) Badruddin Tyabji
(D) More than one of the above
(E) None ofthe above
69.
65. 'Who among the following is also known as
the Grand old man of India ?
(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) More than one of the above
(E) None ofthe above 0.

66. Which of the following movements was
started by M. K. Gandhi ?

(A)  Quit India Movement

(B) Non cooperation movement

(C) Swadesi movement

(D) More than one of the above

(E) None ofthe above
13/HV/M-2024-15/HS-515-E 20

Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above

(E) None ofthe above

Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B)  Anugrah Narayan Sinha

(C) Jai Prakash Narayan

(D) More than one of the above

(E) None ofthe above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad
(B) Jai Prakash Narayan
(C) Swami Sahajanand Saraswati

More than one of the above

D)
(E) None ofthe above



63.

64.

6S.

66.

HAfAITATA ST IS h SR WRA T STHETT S
qr ?

(A)
(B)
(©
(D)
(E)

s
TS ST

S e

S it A T &
o A A T

AT TP I & U A o
(A) e RS

(B) ==, ®. desdt

(C) wewen deesh

(D) swdedi A THD sfrn
(E) Suder® & g el

Freatefea # @ forent “fve siee 89 sw sfear’
FAH A TSR ?

(A)
(B)
(©
(D)
(E)

e TER faeTeh
1 g AR
TITTe ST TS
Suger | A Uk A Sifern
Suger A AR A

FraforRaa # & %A | 3TigeH Th. .MEh gRIs
R a ?

(A) WRABIS! R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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67.

68.

69.

70.

TG TR Tl el i AT ?
(A) HERTGH WTE UeA
(B) s TmeR foeren

©)
(D)
(E)

AT ATA A6
Suderd | | U W Afeen
ERREER R

FAfTRed & i g &t ATEIeH 8 Tealg T8
a e

(A)
(B)
(©)
(D)
(E)

o e

A TER faeTeh

F T

SuHa W | Uk | it
Iuge § A R T

oREm 1920 3. © forgR TIGTITeh Shishd SRSl hi TTaAT
i oft ?

(A) =g TR

(B) e e
(C) ST ARHOT

(D) 3Sudea # ¥ Uk A AfrR
(E)  Suder & g T

1936 % s1Reet AR forem @+ (U371, %. T4.)
< v g & forers g d g ot 2

(A) =i g TR

(B) ST TeRT9T ARTE0T

(C) o Tg=Ig wEad

(D) Suger d | T | 3iferh
(B) Sudw A A e

[=]4 =]
i [P.T.O.



PART - 111

(CHEMISTRY)
71.  The critical temperature value obtained from 74. Which of the following is a network solid?

van der Waals equation is

(A) CCl,
(A) a/Rb

(B) NaCl
(B) 8a/27Rb

C) SiO
(C) a27b2 © ?

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

75. What are the possible variations in the

72. The RMS velocity of oxygen molecule in the
tetragonal system?

lungs at the normal body temperature, 37°C
(given R =8.314x107) is o
(A) Primitive

(A) 4.92x10*
(B) Body-centred
(B) 6.63x10*
(C) Face-centred
(C) 16.6x10°
(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

73.  Which of the following statements about 76. Which of the following species is

crystalline solids is false? ferromagnetic?

(A) Definite geometrical shape A O,

(B)  Sharp melting point B) CH,

(C) Isotropic in nature (C) CrO,

(D)  More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

(=] 5w
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PART - III
(CHEMISTRY)

71. &9 R ATCA THIHIOT A UTH ShHifdeh dToHH 7H 3 74. FafRaa ® @ 9 @1 Uw ek 3| @

(A) a/Rb (A) CCl,

(B) 8a27Rb (B) NaCl

(C) a27b2 (C) SiO,

(D) swdw i d T & ot (D) Swfe i @ v @ s
(E)  vuera o & g i (B) Iudcr # & g

72. YRR A AOEE, 37°C WEES H JeRieH

sy RMS am# (R = 8.314x107) 75. ageehvita vutet § dewrfer fafaeani w2 2

(A)  4.92x10¢ (A) i

(B) 6.63x10* (B) siE-ded

(C) 16.6x10° (C) Wm-dd

(D) uder ¥ 8 TR A 31w (D) 3o T AT A A
(E) Sudw 8w T (E)  vofer & & <hig i

73. TForeciadmEt o an # Fefeitaa @ & sim @ wem 76. FreaRmeRad § 9 S H T ciEgrEsE 2 ?

TR ?

A) O,
(A) Tifvaa st ser

(B) CH,
(B) i TR

(C) CrO,
(C) srAfd H srgErUh

(D) Suger # & T & atfen
(D) ude & U A aAfew

(E) Sudeada g
(E) Suderdi A whig &

E#E
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77. Forachemical reaction with rise in temperature 80.

by 10°, the rate constant is nearly

(A) Half
(B) Double
(C) Zero

(D) More than one of the above

(E) None ofthe above

78. The substance which reduces the rate of
reaction is

81.

(A) Inhibitor

(B) Catalyst"

(C) Collision frequency

(D) More than one of the above

(E) None ofthe above

79. Which of the following statements is false?

(A) Mathematical representation of rate of 82.

areaction is given by rate law

(B) Rate constant is the proportionality
factor in the rate law

(C) Molecularity can be zero or an integer
(D) More than one of the above

(E) None ofthe above
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The rate of a reaction was found to be equal
to its rate constant at any concentration of
the reactant. The order of the reaction is

(A) Firstorder

(B) Zero order

(C) Second order

(D) More than one of the above

(E) None ofthe above

Which of'the following is an example of solid
solutions?

(A) Camphor innitrogen gas
(B) Oxygen dissolved in water
(C) Hydrogen in palladium

(D)  More than one of the above

(E) None ofthe above

The molarity of a solution containing 5 g of

NaOH in450 mL solution is
(A) 0278M

B) 0378M

(©) 0478 M-

(D) More than one of the above
(E) None ofthe above



77. amEEH 10° hrafig o wner v wraties afafw 80.

& foru, ot fereh e @
(A) T

(B) s

(C) <®

(D) e A T A s

(B)  3oder o & g T

78. og uErd S ufafhat Sl SRR PR AR TR ?

81.

(A) oo

(B) v *

(C) ewad s

(D) v A @ oo

(B)  3oder o & g T

79. T wai i@ SRR TAd R ?

82.

(A) Tt afafsran <t 2 o nftreia oo =
frem gro fean s 2

(B) o Rk U ST T SAUTfeiehal Sheh 8
(C) TuTfershan I a1 YUTieh g1 Trehelt 3
(D) 3o o A0 A arfeen

(B)  3wder o & g T
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fereht arffRan w1 afreres 1 ferelt off wigan
T 3T AT (ORI o TR U8 8| 3@ sAfufsran
Hwfe

(A) vemeRife

(B) gawife

(C) fedm=ife

(D) 3w & A U A arferew

(E) 3o d & o Tl

e 3 9 w5 o v frer @ e 2
(A) g e H R

(B) urh & gt gF rfereiom

(C) efemgmgem

(D)  vode i & & il

(B)  3oder & g Tl

450 THEA ST @ 5 I NaOH aTet Siied <l Aot
?

(A) 0278w
(B) 0378w
(C) 0478w
D) & @ st

(B) 3w o & g T
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83. Isotonic solutions have same 86.
(A) Osmotic pressure
(B) Lowering of vapour pressure
(C) Depression of freezing point
(D) More than one of the above
(E) None ofthe above

84. Which of the following oxides is/are

amphoteric? 87.
(A) SnO,

(B) CaO

(©) ALQ,

(D) More than one of the above

(E) None ofthe above

85. Which of'the following is incorrect order of

property as indicated? 88.

(A) Na<Al<Si<Mg: lonisation enthalpy

(B) I<Br<CI<F: Electron affinity

(C) Na'<F<0O*<Ne:Atomic size

(D) More than one of the above

(E) None ofthe above
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Which of the following parameters can not
be estimated by Born-Haber cycle?

(A) Hydration energy
(B) Lattice energy
(C) Electronegativity

More than one of the above

(D)

(E) None ofthe above

The hydration energy of Mg?" ion is less than
that of

A) AP
(B) Ba*
(C) Na*
(D) More than one of the above

(E) None ofthe above

Which one of the following is/are molecular
solid

(A) Silica

(B) Calcium fluoride
(C) Methane

More than one of the above

(D)

(E) None ofthe above



83.

84.

8S.

FEN o= & e g @ 86.

(A) RS

(B) =TS R HGAHA
(C) femiew = sramm

(D) Suder ® W U W ATk

(E) 3w @ e

Frefenfiere o 2 s a1/ siferenge Svaendi 28 2

() P sivease 87.
(B)  hicymm siirss

(C)  uegHifm siierss

(D) ude & 8 v @ ifirn

(B) Soderd & g T

FrferReaa & @ & |IUT o STTER 0T R T

88.
wAR?

(A) Na<AlI<Si<Mg : ST T2edt
(B) I<Br<CI<F : oiergia =g

(C) Na'<F<0*<Ne : U] HTHR
(D) Suded d & Tk & s

(B) Swder o & g T
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T35 T3k g FHHTeTRad | & foh GXriet i
TE TR ST HehA 2 2

(A) oA St

(B) el it

(C) somgmRiad

(D) Sudem # A v @ stk

(B)  Iua & & =i T

M2 31T St oo 3ot et o 2
(A) AP
(B) Ba”
(C) Na'
(D) suder & vk A e

(E) 3o & g Tl

Freaferlaa o & R w1 /& smmutferes 3 8/ 2
(A) o

(B) Shicvrem weivgE
(C) hom
(D) sude & vk A sl

(B)  3wder o & g T
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89.

90.

91.

Among the following oxides, which has the

maximum lattice energy?

(A) CaO

(B) MgO

(C) BaO

(D) More than one of the above

None of the above

(E)

Which of the following solvents has the lowest
freezing point depression constant?

(A) Cyclohexane

(B) Ethanol

(C) Benzene

(D) More than one of the above
(E) None ofthe above

The value of van’t Hoff factor approaches 4
for the following strong electrolytes as the
solution becomes very dilute

(A) KCI

(B) NaCl

(C) MgSo,

(D) More than one of the above
(E) None ofthe above
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92.

93.

94.

Which of the following molecules show
metamerism?

A) CH O

B) CH,

(©) CHO

(D) More than one of the above

None of the above

(E)

The structure of the noble gas compound
XeF, s

(A) Square planar

(B) Distorted octahedral

(C) Tetrahedral

(D) More than one of the above

None of the above

(E)

Ammonia forms complex [Cu(NH,),]*
with copper ions in alkaline solution but not
in acidic solution. The reason is

(A) Inanacidic solution hydration protects
Cu?" ions

(B) In acidic solution protons are
coordinated with ammonia molecules
forming NH*" ions

(C) Copper hydroxide is amphoteric
substance

(D) More than one of the above

(E) None ofthe above
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90.

91.

Fratafaa srfeaEet ° | foraeh S et 92,

R 2?7

(A)  HieyEm TS
(B) Hiiform siferEe
(C) iam srizaTEe

(D) Sudewd AU A Afres
(E) 3o @

93.

Frfeiaa # @ form foemaes 1 faare sevA
feeries ea wH @

(A) HegEEH

(B) 3

(C) o

(D) swam A T A o
(E)  vofer & & <hig =i

94.

freferem i ZoERieEza e 32 2 Feh
;m4mu§amﬁmﬁwa§aﬁﬁm
(A)  dfomEm FerTEe

(B) wfeam FeiES

(C) uiforam Hettie

(D) Sudw AU A Aferes

(E) 3o @
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freaferfiem o & =i w a1y Aerafien guta 2 2
(A)
®) CH,

(©)

C,H,,0

C,H,0
(D) Suger d € T W 3iferh
(B) 3wl g T

Ipe T it XeF, i aa g
(A) aiER et

(B)  forpa st
AR

(D) Swdw ¥ AT A Aferh

(E) 3o d & g T

(©)

AT ST oiet § HioR SATEH o 91 SHiveerer
[Cu(NH,),]*" =Tt g eifeha sFeeia gt | T |
HROT R

AR =t ° e Cu?* S e
HATE

(A)
(B)  artir sivet & et areifren sTopati @
Tt gres NH* o1 s §

I FTEFTFATES IHER] Tared 3

(D) Sudwd A TR A Afres

(E)  vofer & & <hig i

©)
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95. Identify the incorrect statements about potash
alum

(A) Itsaqueous solution gives test of three
types ofions.

(B) Itsaqueous solution is acidic in nature.

(C) Its constituent ions loose their identity
in aqueous solution.

(D) More than one of the above

(E) None ofthe above

96. Which of the following statements about
metal carbonyls, M(CO),, is false?

(A) CO acts as a Lewis base and Lewis
acid

(B) Metal acts as Lewis base and Lewis
acid

(C) pm-prback bonding takes place
(D) More than one of the above

(E) None ofthe above

97. TUPAC name of H,[PtCI ]is
(A) Hydrogen hexachloroplatinic (IV) acid
(B) Dihydrogen hexachloroplatinate (IV)
(C) Hexachloroplatinic (IV) acid
(D) More than one of the above

(E) None ofthe above
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98.

99.

100.

A [M(H,0),]** complex typically absorbs at
around 600 nm. On treatment with ammonia,
it forms a new complex [M(NH,),]** which
should have absorption at

(A) 800nm
(B) 580nm
(C) 620nm

(D) More than one of the above

(E) None ofthe above

Which complex is likely to show optical
activity?

(A)  cis-[Co(NH,) (en),]
B) trans-[Co(NH,),CL]*
(©) [Cr(H,0)J"

(D)  More than one of the above

(E) None ofthe above

Complex [Cr(NH,),(NO,),]CI can show
(A) Ionisation isomerism

(B) Linkage isomerism

(C) Optical isomerism

(D) More than one of the above

(E) None ofthe above



95.  YieTl ftheehil o AR W TeTd ShHT hl Uga

(A)

(B)
(©

(D)
(E)

96.

TR AT Tt i SRR <h ST ST TeTut
qagl

TR e el 311 ki 1 gre 21

T TTh I T Oie § 370 uge
LG ]

U | A U | i
Suger A A i T

urg wraited, M(CO), % ar # Fafofea d @

T AT HAA TeAd 2 2

(A)

(B)

(©
(D)
(E)

97.
(A)
(B)
(©)
(D)
(E)

CO 958 &R 3R 758 370t & & H &
AT R

oTq 39 @ 3R 39 3Tt & w9 § wd
A 2

PT-pT Sk S-S Bl
S § © Uk W i
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98.

99.

100.

T [M(H,0), |** shiveeter Sa o) o1 600
nm W AAINTAA a1 2| ST o6 Trex ufafsean
A W, T Teh T vt [M(NH,), ] s
2 e sraviwon gmn =

(A)
(B)
(©)
D)
(E)

800 nm

580 nm

620 nm
SuHer W A Uk A JAfees
ST A A G T

I T HPATE AT e ATl e <l SHTerT

2?

(A)
(B)
©)
D)
(E)

cis-[Co(NH,),(en),]
trans-[Co(NH,),CL,]*
[Cr(H,0)]*"

Fuer A T A o
TR A A g A

wirered [Cr(NH,),(NO,),]Cl o werar

(A)
(B)
(©)
(D)
(E)

ST TRT0T AT
ISCERLICRE)
ISR CRE
e # | T A sifern
IR H A T
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101. Thermite is a mixture of 104. The smelting of iron in a blast furnace
involves the following processes:
(A) Fepowderand Al O,
(A) Reduction
(B) Alpowderand Fe,O,
(B) Slagformation
(C) Znpowderand Cr,0,
(C)  Sublimation
(D) More than one of the above
(D) More than one of the above
(E) None ofthe above
(E) None ofthe above

102. Which of the following is not an ore of
magnesium? 105. Which of'the following is sparingly soluble in
cold water and fairly soluble in hot water?
(A)  Gypsum
(A) PbCl,
(B) Magnesite
(B) PbSO,
(C) Dolomite
(C) Pb(NO,),
(D) More than one of the above
(D) More than one of the above
(E) None ofthe above
(E) None ofthe above

103. Which of the following metal(s) is/are

commercially extracted by self-reduction 106. Among the carbonates of alkali metals which
method from their corresponding ore? one has the highest thermal stability?
A) Cu (A) Cs,CO,
(B) Pb (B) K,CO,
(C) Fe (C) Na,CO,
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above
=
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101.

102.

103.

oise foraem g 2 2
(A) FeuR=aRALO,

(B) AlWm=taitFe,0,

(C) Znumst &R Cr,0,

(D) e 9 T & i
(B) Sudwd & =g 7

P & & s AT o oren T 27
(A) Foem

(B) #awTzE

(C) reimrge

(D) e # 8 T & e

(E) Sudfert® & hig &l
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(B)  3wder o & g T
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104.

105.

106.

TARE Wrid § TR i T 8 Frefetie wfsramd
I gt &:

(A) IU=EA
(B)  engee fmfor
(C) sedame
Sude | A U A It

SUYer B IS T

(D)
E)
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TR TTH UTH H I eIiiel 8 2

() P
(B) e HeIhe
e TEgE
o 8 A o
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©
(D)
(E)
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(C) e amEie
TR i & T @ ot
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(E)
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107.

108.

109.

Potassium when heated strongly in oxygen, it
forms

A) KO

(B) KO,

(©) K0,

(D) More than one of the above

None of the above

(E)

Which of the following is the most important
factor in making lithium metal, the strongest
reducing agent?

(A) Ionisation enthalpy
(B) Hydration enthalpy
(C) Heat of sublimation
(D) More than one of the above
(E) None ofthe above

Which of the following alkaline earth metal
hydroxides is the least soluble in water?

(A) Be(OH),

(B) Mg(OH),

(C) Ca(OH),

(D) More than one of the above
(E) None ofthe above
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110.

111.

112.

A metal is burnt in air and the ash on
moistening smells of NH,. The metal is

(A) Na

(B) Mg

(C) Fe

(D) More than one of the above
(E) None ofthe above

Examples of igneous and sedimentary rocks
are

(A) Granite and limestone

(B) Granite and sandstone

(C) Graniteand clay

(D) More than one of the above
(E) None ofthe above

Nitrogen dioxide cannot be obtained by
heating

(A) KNO,

(B) NaNO,

(C) LiNO,

(D) More than one of the above
(E) None ofthe above



107.

108.

109.

T TITEm Rl TS | THisTal & T oA W e @
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(C) Ca(OH),
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110. U &Tg i gAT | AT ST ¢ 3R W@ Hl e

111.

T o NH, i vier ot ) &g 2
(A) wfem
(B)  wehiorm
(C) 3
(D) 3udem ¥ & U & At

(B)  Iua & & =i T

ST T ST TR %6 I
(A)  ITEE S T TR
(B) ITgE 3R 3 UeeR
e 3R it
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(©)
(D)
(E)
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Hehdl

(A) KNO,

B) NaNO,

(C) LiNO,

D) @ @ st
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113. Which of'the following method is used for 116. The dipole moment of H O, is more than that
the purification of zirconium of H,O but H,O, is not a good solvent
because
(A) VanArkel
(A) Ithasaveryhigh dielectric constant

(B) Mond process ) i )
(B) It dissociates easily and acts as an

(C) Zonerefining oxidising agent

(D) More than one of the above (C) Itactsasareducing agent

(D) More than one of the above
(E) None ofthe above
(E) None ofthe above

114. Which of the following halogen

disproportionates in water? 117. Which of the following xenon compound has

the same number of lone pairs as in [**?

A (A) XeO,

® < (B) XeF,

© L (C) XcF,

(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

118. Find the incorrect statement about borax
115. Inwhich of the following cases, the order of

acidic strength is not correct? (A) It is a useful primary standard for
titrating acids
(A) HI>HBr>HCI
(B) Onemole of borax contains

HIO >HBrO >HCIO
®) ¢ ¢ ! 4 B—- 0O —B bonds

(€) HCIO~HCIO,~HCIO, (C) Aqueous solution of borax can be used

ffi
(D) More than one of the above as buffer

® cthedh (D) More than one of the above
E) None ofthe above

(E) None ofthe above

(=] 5w
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113.

114.
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Renitam o gigeon & fore Fefoiaa & @ e
ferfer = suam feRn =T @
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116.
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(A) XcO,
(B) XcF,

(C) XcF,

S it @ o & iR
IR H AR T

(D)
(E)

ANE o TR W TTeTd U g8

T3 uftrs 1uTeA % foru uek suantt wefies
e g

(A)

(B) SR FTHEUAHA4B-O-Baiggad

(C) =Re % Tl =iet <hl SO o &9 T SR

10108 ke i
Iuder 4 9 U W SAfies
I A A R T

(D)
(E)

[=]4 =]
i [P.T.O.



119.

120.

121.

122.

Which of the following oxyacid contains both
P—H and P — P bond simultaneously?

(A) H[PO,

B) HPO,

(©) HPO,

(D) More than one of the above
(E) None ofthe above

Calculate x + y + z for H,PO, acid, where
x is a number of lone pairs, y is a number of
o-bonds and z is a number of 7-bonds:

(A) 5

B) 13

©) 14

(D) More than one of the above

None of the above

(E)

Which of the following properties of halogens
increase with increasing atomic number?

(A) lonisation enthalpy

(B) Ionicradius

(C) Enthalpy of vapourisation
(D) More than one of the above
(E) None ofthe above

Which of the following noble gas does not
form clathrate?

(A) Kr

(B) Ne

(©) Xe

(D) More than one of the above
(E) None ofthe above
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123.

124.

125.

126.

Which of the following do not have tendency
to act as ligands during complex formation?

(A) BiH,

(B) PH,

(C) AsH,

(D) More than one of the above
(E) None ofthe above

Which of the following act as an oxidising as

well as a reducing agent

(A) HNO,

(B) HO,

(C) HS

(D) More than one of the above

None of the above

(E)

Iodine is formed when potassium iodide
reacts with

(A) ZnSO,

B) CuSO,

© da,

(D) More than one of the above
(E) None ofthe above

Iron is rendered passive by treatment with?
(A) conc. HNO,

(B) dil. H,SO,

(C) HC

(D) More than one of the above
(E) None ofthe above
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(B) Suder® & g T

A o FoTRa § 9 hi 1 0T UHTY] ShHTh
TG o WA TGA 2 ?

(A)  oTEichto Gt

(B) st e

(C) ardiertur it T-edt
(D) Sude H U T Afh
(E) swdwda g

Freferfia i § 5 o e st T a
27
(A) Fr
(B) =
(C) 3Fm
(D) Suger d € T | 3ifereh

(B)  3wder o & g T
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123.

124.

125.

126.

FreaferRaa o @ forem @i fmior & 3w fedig &
w3 e o g A 27

(A) BiH,

B) PH,

(C) AsH,

(D) 3o o A0 A arfeen

(B) IgwmARARE T

fafealea & @ ®F st & q-ar
AT & T H T T g

(A) HNO,

(B) H,0,

(©) HS

(D) e 9 o & Sl
(E) 3wt & hig &

Ui STEETES % A1t Ufdfshan sid W ST

AL

(A) ZnSO,

(B) CuSO,

(©) Cl

(D) Sudem i & TH A sl
()  Sudder & hig el

ferereh Suem 9 smaa ffsra @ s 2 2
(A)
(B)
©)
D)
(E)

|ig HNO,

a1 H,S0,

HCl

Iuger | § T | I
IR H A T

[=]4 =]
i [P.T.O.



127.

128.

129.

130.

The solubility of silver bromide in hypo
solution is due to the formation of

(A) AgS,0,

B) [AZS0)I

© [Ag(S,0,),]

(D) More than one of the above
(E) None ofthe above

Mercury is the only metal which is liquid at
0°C. This is due to its

(A) Very high ionisation enthalpy and
weak metallic bond

(B) Low ionisation energy

(C) Highvapour pressure

(D) More than one of the above

(E) None ofthe above

Which of'the following metal nitrate produces
gaseous product when reacts with KCN
solution?

(A) Cu(NO,),

B) AgNO,

(C) Cd(NO,),

(D) More than one of the above
(E) None ofthe above

Which of the following compound does not
liberate oxygen gas on warming with conc.
H,SO,?

(A) SO,

(B) PbO,

(C©) MnO,

(D) More than one of the above

None of the above

E)
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131.

132.

133.

134.

Cobalt salt+ KNO, + CH,COOH — yellow
ppt. The yellow ppt is

(A) Potassium cobaltinitrite

(B) Potassium cobaltonitrate
(C) Cobaltnitrate

(D) More than one of the above
(E) None ofthe above

Which of the following salt will not give
positive brown ring test?

(A) Cu(NO,),
(B) Pb(NO,),
(C) Zn(NO,),
(D) More than one of the above

None of the above

®

Which of the following reactions is Wurtz
reaction?

(A) CH,+H/Pd—— CH,

(B) 2CH,Br + 2Na/ether- — C H, +
2NaBr

(C) CH,CI+H/Zn-— CH,+HCI

(D)

(E)

More than one of the above

None of the above

In which C—C bond of CH,CH,CH,Br, the
inductive effect is expected to be the least?
A) C,-C,

B) C,-C

(C) C, -C

(D) More than one of the above

(E) None ofthe above



127.

128.

129.

130.

FMEU O § Feer e i gemviieran fohdeh
T o HRUT A 2 ?

(A) AgS.0,
B) [Ag(S,0)I

€©) [AgS,0),1*

(D) Iudem i 8 U @ i
(E) Sudger & g T

R TeRATS U 47 @ St 0°C W g9 ST ° et
HESEEIUE

(A) =Ea I FAEHEO T AR FAAR
erfeareh sie

W STEHIHT At

I 9T g
U | A Uk W sifern
TugeT § A R T

(B)
(©)
(D)
(E)

KCN faretam < @i ufefshan s W fafeiaa
H W I |1 UTg ATSee TH IeTg Ieu= Hia1 g ?

(A)  Cu(NO,),

(B) AgNO,

(C) Cd(NO,),

(D) Sude H A TH | Al
(B)  3ordam 4 g 7

Freferfiam & @ a1 <ifies wigm H,S0, %
1 T A TR AT 18 e Tl el 2
(A) SO,

(B) PbO,

(C) MnO,

(D) Todam i & v @ arfer

(E) Sudger & g T
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131.

132.

133.

134.

HidTee Aee + KNO, + CH,COOH — dfen
Y| diet Teig @

(A) R St
(B) RREm SIS
(C) ehmTeeTEeE

(D) v 2 o @ o
(E) Swdw | wE

Fretefaa & @ == a1 w@ gereaes s T
TR0 T M ?

(A) Cu(NOy),

(B) Pb(NO,),

(C) Zn(NO),

(D) v i 8 v @ o
(B) Sudwad & g T

FrefcrRer & & i it ufafsken ags wfafren 2 ?
(A)
(B)

C,H, + H/Pd—— C,H,

2CH3Br + 2Na/ZeR— — Csz +
2NaBr

©
(D)
(E)

CH,Cl +H,/Zn-—> CH,+ HCI
SuHe | | Uk | it
SUHa W S T

CH,CH,CH Br & fa C-C seier & S yoma
T FHEA H IEE 2 ?

A) C,-C,
®B) C,-C,

€) C, -C,

(D) Suda ® A TE @ HAfeew
(B) 3o o g

o [P.T.O.



135.

136.

137.

138.

Hyperconjugation is possible in
(A) Alkanes

(B) Alkenes

(C) Ethyl cation

(D) More than one of the above
(E) None ofthe above

Calculate the number of sigma and pi bonds

in 2,8-dimethyl-3,6-decadiene
(A) 33 sigmaand 2 pi bonds
(B) 22 sigma and 2 pi bonds
(C) 11 sigmaand 2 pibonds
(D) More than one of the above
(E) None ofthe above

Which of the following compounds will

show cis-trans isomerism?

(A) (CH,),C=CH-C,H,

B) CH,CH=CH-CH,

(C) CH,CH=CCICH,

(D) More than one of the above
(E) None ofthe above

Which of the following groups is/are meta-

directing group
(A) —OH
(B) - N02
(C) —-CHO

(D) More than one of the above
(E) None ofthe above
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139. Among the following, which one is/are

ambidentate nucleophiles

(A)
(B)
(©
(D)
(E)

Cyanide ion

Nitrite ion

Hydroxyl ion

More than one of the above

None of the above

140. Which one is the most reactive species in

S 1 reaction

(A)
(B)
©)
(D)
E)

(CH,),CBr
CH,CH,CHBrCH,
(CH,),CHCH,Br

More than one of the above

None of the above

141. Although chlorine is an electron withdrawing

group, yet it is ortho-, para- directing. The

reason is

(A) Inductive effect

(B) Resonance effect

(C) Mesomeric effect

(D) More than one of the above

(E)

None of the above

142. Which of'the following compounds possesses

high boiling point?

(A) Methanol

(B) Ethanol

(C) Propan-l-ol

(D) More than one of the above
(E) None ofthe above



135.

136.

137.

138.

TR 19 § B

(A) o

(B) R

(C) 3urEe A

D) s @ @ st
(B) o d &g

2, 8-TrEfersd-3, 6-2hEA | fammn 3R uts a1
hY TTAT <hl AT R

(A) 33 fomm o 2 wid wie
B) 22 formm 3R 2w ae
(©) 11 fermm siv 2 wrd iz
(D) v it @ uw & srfer
(E) Suder® & g &l

FraferRem o & m = Hiftes @ -2 sreamisn
femmom?

(A) (CH,),C=CH-CH,
B) C,H.CH=CH-CH,
(C) CH,CH=CCICH,
(D) Sudew @ A US A Aferh
(E) swgwda g

freaferRaa & @i &1 avg S A ag B/
(A) —OH

(B) -NO,

(C) —CHO

(D) v & o st

(B) Sudwd & =g T
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139.

140.

141.

142.

Fraforiaa ® @ wF-w/@ swae Ffeaaresa
22

(A)  HTEEE SR

(B) rEgEe s

(C) emsgiiaae s

(D) wordam & v & arferm
(E) Suderdi & g &

S, | wifciforan # et siferes wffsranyiict St st
HWe?

(A) (CH,),CBr

(B) CH,CH,CHBrCH,
(C) (CH,),CHCH,Br
(D) e i 9 v & sl
(E) Suder & g 7

T A Uk gorergi STehsi wofg g, T oft 7
Jrtert—, d-SrRfeFeT 2| HRUTE

(A)  Swfores v

(B) R U=

(C) i o=

(D) I 8 o @ ol
(E) Suder® & s &l

FrafeRea @ @ form 2iftres o FaumR ST A 2 ?
(A) Rerie

(B) i

(C) WoA-1-30e

(D) Sude H A TF @ feeh

(E) Swdw | we T

[=]4 =]
i [P.T.O.



143. Which of'the following is non-aromatic based 147. The correct order of basicity of aliphatic

on Huckel’s rule amines are?
(A) Naphthalene (A) Primary>secondary>tertiary
(B) Anthracene (B) Secondary> tertiary>primary
(C) Phenanthrene (C) Tertiary>secondary>primary
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

144. Among the following, which one is the correct 148. Essential amino acids which can not be
increasing order of acid strength? synthesized by our body are
(A) Propan-l-ol<4-methylphenol<phenol (A) Tyrosine
(B) 4-Methylphenol<phenol<propan-1-ol (B) Tryptophan
(C) Phenol<propan-1-ol<4-methylphenol (C) Histidine
(D) More than one of the above (D) More than one of the above
(E) None oftheabove (B) None ofthe above

145. Aldehydes are easily oxidised to carboxylic 149. Which of the following vitamins are fat

acids by mild oxidising reagents : soluble?

(A) Tollens’reagent (A) VitaminA

(B) Fehling’s reagent (B) VitaminD

(C) Grignard reagent (C) VitaminC

(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None of the above

146. Which of the following statements is incorrect? 150. Which of the following polymers is

(A) Lower aliphatic amines are soluble in biodegradable?
water (A) Buna-N

(B) Higher amines are essentially insoluble (B) Buna-S
in water

(C) Nylon2-nylon-6
(D) More than one of the above
(E) None ofthe above

(C) Amines are more polar than alcohols
(D) More than one of the above
(E) None ofthe above
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143.

144.

145.

146.

Fohel o T & 3NuR W Fafeiiaa # @ S ar
A-wanieh @

(A) AR

(B) woEH

(C) el

(D) Suder ® W U A Aferek

(E)  vufer & & g i

FrafciRea 4 & st vifers o1 A& STgan gat R
HAAG?

(A) - | -sie<d-Fremsemm<Rrie
B) 4-Frerstme<Rmm<i. s
(C) ittt -sie<4-frensersie
D) wrdad & wwa st

(E) Suded® | i &

TfTERTSE Tooh SHATRHIHIUT ST HeRHeh! GaT STET
A T ToRaITeTeh TR STTeRAIehd g1 9Id ¢

(A) <o vt

(B) it sftrentien

(C) T sifvereh

(D) Sude H U T Afh

(E)  vofer o & <hig

FrafoiRaa § 8 M T weA A 8 ?
(A) Fr ufertsfess TR u # geriier 8 @

(B) = WA a4 | Ut H g
B d

Ui Yeehigicn ehl Jor | 1feres Yeita 2 §
Suefer H A U A T
Iuger | A IS TE

(©)
(D)
(E)
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147.

148.

149.

150.

TfcTthfesh THTE S STRERAT ol TE hU R 2 ?
(A) e > wiEAtHeE > qArae

(B)  weafies > e > sterfirch

(C) Txiraes > AreATHe > Wtk

(D) Sudw | TS A Al

(B) S awe i

TETHH HHAT TS S gaR IR gR1 Svatea &l
forg <t e §

(A) e
(B) fd

(C) ffedm

D) o i1 3 v B o
(E) sude w8 g T8

Freaforer § & wi o R e 8 gersher 32
(A) foefET

B) feftmE

(C) frefmsh

(D) Sude H WU Afeh

(E)  vuera & & <hig i

FrefeiRaa ® 9 = @ viferR srenfeieaa 8 2
(A) Fn-w

(B) Fm-tm

(C) Rt 2-A=AH-6

(D) Sudw AU A Aferes

(E) Swdw | we T

i [P.T.O.
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Bihar Public Service Commission
Exam Date- 22-07-2024
Advt. No. 22/2024, Chemistry, Class 11-12

Final Answer key

SET-E | ANSWER KEY |SET-F | ANSWER KEY [SET-G |[ANSWER KEY SET-H |ANSWER KEY REMARK
E-1 D E-3 D E-4 D E-7 D
E-2 C E-4 A E-5 B E-8 C
E-3 C E-5 A E-6 B E-4 C
E-4 D E-1 D E-7 D E-5 D
E-5 C E-2 A E-8 B E-6 C
E-6 C E-7 A E-1 B E-2 C
E-7 C E-8 A E-2 B E-3 C
E-8 E E-6 E E-3 E E-1 E
H-9 C H-19 A H-15 B H-25 C

H-10 A H-20 C H-16 A H-26 B

H-11 D H-21 D H-17 D H-27 D

H-12 B H-22 B H-18 C H-28 A

H-13 C H-23 A H-19 B H-29 C

H-14 E H-24 E H-20 E H-30 E

H-15 A H-25 C H-21 A H-9 B

H-16 B H-26 B H-22 C H-10 A

H-17 B H-27 B H-23 C H-11 A

H-18 C H-28 A H-24 B H-12 C

H-19 E H-29 E H-25 E H-13 E

H-20 B H-30 B H-26 C H-14 A

H-21 D H-9 D H-27 D H-15 D

H-22 A H-10 C H-28 A H-16 B

H-23 C H-11 A H-29 B H-17 C

H-24 B H-12 B H-30 C H-18 A

H-25 E H-13 E H-9 E H-19 E

H-26 A H-14 C H-10 A H-20 B

H-27 C H-15 A H-11 B H-21 C oy it STR IgE 2|

H-28 D H-16 D H-12 D H-22 D

H-29 B H-17 B H-13 C H-23 A

H-30 A H-18 C H-14 A H-24 B
U-9 A U-19 C U-15 A U-25 B

U-10 B U-20 B U-16 C U-26 A

U-11 C U-21 A U-17 B U-27 C

U-12 B U-22 B U-18 C U-28 A

U-13 E U-23 E U-19 E U-29 E

U-14 D U-24 D U-20 D U-30 D

U-15 D U-25 D U-21 D U-9 D

U-16 B U-26 B U-22 C U-10 A

U-17 A U-27 C U-23 A U-11 B

U-18 A U-28 C U-24 A U-12 B

U-19 D U-29 D U-25 D U-13 D

U-20 D U-30 D U-26 D U-14 D

U-21 A U-9 C U-27 A U-15 B

U-22 C U-10 A U-28 B U-16 C

U-23 A U-11 C U-29 A U-17 B

U-24 B U-12 B U-30 C U-18 A

U-25 C U-13 A U-9 B U-19 C
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SET-E | ANSWER KEY |SET-F | ANSWERKEY [SET-G |[ANSWERKEY BSET-H |ANSWER KEY REMARK
U-26 C U-14 A U-10 B U-20 C
U-27 A U-15 C U-11 A U-21 B
U-28 C U-16 A U-12 B U-22 C
U-29 B U-17 B U-13 C U-23 A
U-30 A U-18 C U-14 A U-24 B
B-9 D B-19 D B-15 D B-25 D
B-10 B B-20 B B-16 C B-26 A
B-11 B B-21 B B-17 C B-27 A
B-12 A B-22 C B-18 A B-28 B
B-13 A B-23 C B-19 A B-29 B
B-14 C B-24 A B-20 B B-30 C
B-15 B B-25 B B-21 C B-9 A
B-16 C B-26 A B-22 B B-10 C
B-17 C B-27 A B-23 B B-11 C
B-18 B B-28 B B-24 C B-12 A
B-19 C B-29 A B-25 B B-13 C
B-20 B B-30 B B-26 C B-14 A
B-21 B B-9 B B-27 C B-15 A
B-22 B B-10 B B-28 C B-16 A
B-23 C B-11 A B-29 B B-17 C
B-24 C B-12 A B-30 B B-18 C
B-25 A B-13 C B-9 A B-19 B
B-26 B B-14 B B-10 C B-20 A
B-27 C B-15 A B-11 B B-21 C
B-28 A B-16 C B-12 A B-22 B
B-29 B B-17 B B-13 C B-23 A
B-30 B B-18 B B-14 C B-24 A
31 E 39 E 47 E 63 E
32 B 40 B 48 C 64 A
33 A 41 C 49 A 65 B
34 E 42 E 50 E 66 E
35 C 43 A 51 B 67 C
36 A 44 C 52 A 68 B
37 C 45 A 53 B 69 C
38 B 46 B 54 C 70 A
39 C 47 A 55 B 31 C
40 E 48 E 56 E 32 E
41 E 49 E 57 E 33 E
42 C 50 A 58 B 34 C
43 C 51 A 59 B 35 C
44 C 52 A 60 B 36 C
45 B 53 B 61 C 37 A
46 B 54 B 62 C 38 A
47 D 55 D 63 D 39 D
48 C 56 A 64 B 40 C
49 B 57 B 65 C 41 A
50 A 58 C 66 A 42 B
51 A 59 C 67 A 43 B
52 Deleted 60 Deleted 68 Deleted 44 Deleted
53 B 61 B 69 C 45 A
54 B 62 B 70 C 46 A
55 A 63 C 31 A 47 B
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In gaseous state in the
basic strength of
aliphatic amines is
Primary<Secondary<Te
rtiary in accordance
with +I effect. Greater
is the stability of the
substituted ammonium
cation, stronger should
be the corresponding
amines as base. Thus
the order of basicity of
aliphatic amines should
be
Primary<Secondary<Te
rtiary. Taxing into
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